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QUESTION 1

A network administrator is concerned about the number of LSAs that they are observing on the network. What will
reduce Type 7 LSAs advertised from R2 to the non-backbone routers shown in the exhibit? 

A. Configure no-summaries under area 0.0.0.2 on R2. 

B. Configure nssa under area 0.0.0.2 on R2. 

C. Configure no-nssa-abr under protocols ospf3 on R2. 

D. Configure no-summaries under protocols ospf3 on R2. 

Correct Answer: C 

 

QUESTION 2
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R2 is receiving a route from R1 and you must ensure that the route is not advertised to R3. Referring to the exhibit,
which two configuration changes on R2 will solve the issue? (Choose two.) 

A. Apply the no-export policy as an import policy under group 65001. 

B. Apply the no-advertise policy as an export policy under group 65003. 

C. Apply the no-export policy as an export policy under group 65003. 

D. Apply the no-advertise policy as an import policy under group 65001. 

Correct Answer: BD 

 

QUESTION 3

You have a Layer 3 VPN established between PE-1 and PE-2 to allow communication between CE-1 and CE-2. You
want to establish communication between CE-1 and CE-2. 

Referring to the exhibit, which statement is correct? 

A. You will need a BGP export policy on PE-1 to redistribute the OSPF routes, learned from PE-2, to the CE1 BGP
neighbor. 

B. You will need a VRF import policy on PE-2 to advertise the OSPF routes, learned from CE-2, through the Layer 3
VPN. 

C. You will need a VRF export policy on PE-2 to redistribute the OSPF routes, learned from CE-2, through the Layer 3
VPN. 

D. You will need a VRF import policy on PE-1 to receive the OSPF routes, learned from PE-2, through the Layer 3
VPN. 

Correct Answer: C 
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QUESTION 4

You are responsible for configuring CoS for your network Your network includes a video application with strict latency
requirements, so that any packets delayed by more than 75 ms are effectively useless. You want to ensure that you do
not waste buffer space. 

When configuring the scheduler for this application, which feature would you use? 

A. remainder 

B. exact 

C. temporal 

D. rate limit 

Correct Answer: C 

 

QUESTION 5

You are considering different MPLS VPN connectivity options for a new customer deployment. Your customer requires
shared LSPs, Layer 2 connectivity, and auto-provisioning. 

Which type of VPN satisfies the requirements? 

A. BGP Layer 3 VPNs 

B. circuit cross-connects 

C. LDP Layer 2 circuits 

D. BGP Layer 2 VPNs 

Correct Answer: D 
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